B19REE

TR FERBATHBEFHMERFINZHTHE

SRS EERMETTHEFMERSFINSHTEI RCEDD L AL 5,
(AR TE)

F1R BRAREHTEORHEL, RARHENAEN3, 859 FHLEED S,

2 RAMHTEOREORSRUCEZRSZLOEBIT. F1RIFARD
Big - Wil i <Y

SM54E2H20HEEH

R EHEFHEXERE
REEGR /B & &



g ———

‘_ﬁl‘_



FB1HR BARHETE
m A

% [ I
TH
1 BEé 3,858
1 s 3, 858
2 FILA 1
1 TESHIF 1
® A & # #, Sl




= by ]
T8

1 BER 1, 000
1 BEEHER 1, 000
2 FER 2,859
| 1 FlE® 2,859

|
o H & 13 3,859




-5 4 -



R T EFERHRE

1 & &
(7% A)
AT F AR LE T 548
FH ¥
1 i 3, 858 3, 858
2 WRURA 1 1
- 3,859 3, 859

._55_




(7% =)
AERETRE RIEETFRH i
A T/ M
| FER 1, 000 | 500 500
2 T 2, 859 | 3, 359 A500
i H B # 3, 859 3, 859 0




E

2]

ik

E T B W
]

M_® A R
R

Ef Xt E

W 5 &

€ @O fh

iz M R

FH

FH

A

FH
1, 000

2,859

3,859

—-B7—




3 753

13K #BEe
1E SEe
AEETRE HIEE TR g
F[ T Fm
1 ks 3, 858 3, 858 0
3, 858 3, 858 0
23 BEEA
118 FR&EFF
1 FEefF 1 1 0




K 4 & %@
A i
1 ke 3,858 | AL MM & 3,858
| H&RT ! 1i$%ﬁ&ﬁ&ﬂ% 1
| - R
- J
W R I EE R RIS

_ﬁg_




3 [ i
13 X5
17 BREEHER
| EEXTEEEEERE LR
B REEFRENEETEE L & | # = M I —
EFXHE | 5 |+ @ #h
+m - M @ 1 M A
X B 1,000 | 500 500 1, 000
fii ¢ '
=8 1, 000 500 500 0 0 0 1,000
2% FEE
1E FHE
[ ]
1 TR ] 2,859 3, 359 A500 2, 859
g 2, 859 3, 359 A500 0 0 0 2, 959

—B10—



= 5 | & @ " P
JFF’?.; A
18 A48 - 4idh 1,000 | 624 #AREILAE DWESL
ROt 01 MERMETHIZE 1,000
B (K EE R TR 1,000
T_____
W5 7 < I PE R B2 B

_511_




